Name:

~Angle Relationships Quiz Review

Directions: Use the diagram above to find the following. For each question you must show your geometry and
justify your set up. Remember each question is independent and does not carry onto the next question. This
diagram is not drawn to scale.

1.If ZNEO = 5x + 1 and £OEC = 3x + 9, find x.
Geometry Justification

Ax+l43x +A =90
X 41090
XX:S{)

e 1D

2.1t £DEC = 3x — 65 and 2SED = x — 19, find x.
- Geometry Justification

<DEC t L$ED =150 \inear Pass
, OAL S LHQ/F.LQJ
2x b5 +X-19 =160

Hx -84=18§0 T
4 X =24
[X =GL
3.1f £SET = 3X + 2 and £OEC = 83°, find x.
Geometry Justification

LSETXLOEC chﬁca{)&
Hy+2= ¥3 AL =

()('«'Q"H




A4, 1f £LNEO = 4x + 7 and £O0EC = 4x + 11, find x.

Geometry Justification
- - Ael of
=90
ZNED + <OE C 9 CCYVLPl
-+l = 90
§x+19=90
§x =12 . 9

5.1f zZDEC = 2x + 18 and £SED = 5x + 1, find x.
Geometry Justification

ZDEC +LSED=\8 linear 4

- w i :
Ax 4B 45x +1 =180 LS I —

T x+1a =180
'_] X = “0' ‘- 25
X =23
6.1f LSET = 3X + 1 and LOEC = 85°, find x. " :
Geometry Justification , =
(SET = <0EC Vechtad £5 —
Ax+1 =85 i
3 x =34
X = ;} 8/ X= ,»/ sf




7. Find x and the m£SAN if mzSAD = 135°, m«SAN = 3x + 1,and m«DAN = 2x — 6.

Geometry: Justification:

D H4pAR =<saDd angle . mm .
Bxtl+2Xx-te =139

5X- 5-\36 @M =85\

I‘+D

: X 28
8. Find x and the m2SAN if m2SAD = 94°, m£SAN = 3x + 15,and m«DAN = x + 7.

S Geometry: Justification:

 LSANE< DAL=LSAD oagsre addihne

Qx-1+23x+1 =loy -7

A QX410 = Wox- T
D } &) = 4x
—p =4

<L SAD= W (2=

ZLSAD=10L
x and the mzSAD if msSAD = 16x — 2, m£SAN = 9x — 7, and m4DAN = 3x + 17.

Geometry: Justification:

2. 5ANT<DA =<SAD Or\@\ﬂ '—H
2 x 415t X+7] = 94 ooldehnt

N



10. Solve for x and find maGCF

| Geometry: Justification:
<ACD+LDCE=A0 deccff:
Tx+d+ 3x+26 =90
lIox +30 =90 )
10X = WO M LGCF=0bL

11. Find x and the m2KAS if AS bisects ¢KAT, m¢SAT = 5x + 13 and m«KAT = 15x — 6.

Geometry: Justification:
X -\ # ‘ .

Bx— o = a(5x+/s)
15 X ~lp = 00y +2. o

bx-le =2
5x =52~

12. In the diagram, Eé bisects £ PRS. The
measures of the two congruent angles
are (x + 40)° and (3x — 20)°. Solve for x.

Geometry: Justification:

< PR = <O

x+40 =3%x-20
LO=ax
SED=X\




13. B_D} bisects ~ ABC. Find the value of x. Geometry: Justification:

<ABD = DR, dupheh &
X +15=4x-45 Sisector
/B =3y -45
lO= 38 X

Jeo= X(

14. If mxFGE =5x+10 and FC L AE, find x.
Geometry: Justification:

L FlgE =90
< (z‘: 3 ZO @Jerpendic@r right angle
¢ =

15. If mxBGC =16x—4, mgCGD =2x+13, and BG L GD, find x.

Geometry: Justification:
£ BED=90" defofl
£ B0+ <6 D= LBED  Ongle ol
& x-34+2x+13=90
¥ x +9 =90
&y = &\

[x= 45




16. Find the value(s) of x if
AS bisects LKAT, msSAT = 2x? — 9x — 12 and msKAS = —2x% — 18x — 3

T N Geometry: Justification:
+7 s
2 s LSRAT = <Kas def of <
O

y oaxBX =3 2xF9x-12= -2 a3 Disecto”

fyri9y -9 =0
(x =3 x+1=)”

4 4
(4x -2)(x+3)=°
\X-; X=-3 X —'5

checke X—*—zrz)*

2L
{SAT= Q(%} -Cf(%-)—nz_
LEAT= T 028

LpAs = -2(3) -1803)-3

Check X=-3
Z3AT =AD" -4
LSAT=33°
LgAass 23— 15(-3) -3
“KASE JZ% Yes i




